
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by powers of ten

3.602 × 1000000 = ________ 8.043 × 10000 = ________

8.774 × 1000 = ________ 6.476 × 100 = ________

6.89 × 1000 = ________ 3.843 × 1000 = ________

3.139 × 10000 = ________ 1.115 × 1000000 = ________

1.714 × 1000 = ________ 6.983 × 10000 = ________

5.353 × 1000 = ________ 7.331 × 100 = ________

10.003 × 10 = ________ 5.684 × 10 = ________

2.822 × 100000 = ________ 3.634 × 100000 = ________

7.594 × 10000 = ________ 1.86 × 1000000 = ________

3.567 × 10 = ________ 6.326 × 1000000 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by powers of ten

3.602 × 1000000 = 3602000 8.043 × 10000 = 80430

8.774 × 1000 = 8774 6.476 × 100 = 647.6

6.89 × 1000 = 6890 3.843 × 1000 = 3843

3.139 × 10000 = 31390 1.115 × 1000000 = 1115000

1.714 × 1000 = 1714 6.983 × 10000 = 69830

5.353 × 1000 = 5353 7.331 × 100 = 733.1

10.003 × 10 = 100.03 5.684 × 10 = 56.84

2.822 × 100000 = 282200 3.634 × 100000 = 363400

7.594 × 10000 = 75940 1.86 × 1000000 = 1860000

3.567 × 10 = 35.67 6.326 × 1000000 = 6326000
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